
 

Ex Prove by induction
n Tn 9 is divisible by 3 for all

to integers

n e I
3

7 e t 9 3 divisible by 3

Assume true for me k

I k 7K 9 I 3h for some

integer h

Consider ne Kil

ther Kil 74TH 9

IT t 3K 3kt 7K 7 9

113 7kt 9 t 3k2t 3K 71 1

3h t 3K 3K 6

3 ht K'tie 2

which is divisible by 3 since 3 is a factor

if formula true for n k also true

for h Kt Since true for a L by
mathematical induction it is true for all

positive integers in

Divisibility Tests by Induction



Exercise 8D

6 Prove 26 t 324 2 is divisible by 5

n 26 30 64 1 65 dashes 5

True for n I

Assume five for n k

then 26kt 32
2

5h for some
integer h

Consider h Kil

26
Kt 32 Htc Z

264 26 32ktZ 2

64 26 32 32
T 2

64 26 q 32k 2

55 26 t 9 26 324 2

55 26 t 9 5h
note

5 11 26 9h 11 2 ah
is an integer

Divisible by 5 since 5 is a factor
r if true for n k true for n Kil

ete



4 Prove 8 3 due.sk 5 for
all positive integers in

n i 8 3 8 3 5
divisible by 5

Assume true for me k

CLen 8 3 5h for some Itegerh

Consider n Kil

8kt 3kt 8 8 3 3
t

5 8
t
t 3 8 3 3 t

5 8 t 3 8 t
3
t

5 8 t 3 5h

5 8 34

divisible by 5

if fore fn n ti also true for a Ftl

et

Hwk Spend an hour on Exercise 8B


